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Attempt any four questions.
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I. (a) Define money according to the ‘a priori or
theoretical ~ approach’ and  ‘empirical
approach’. Which do you think has a

greater analytical appeal and why ? 5

6331 1 P.T.0.



6331

(b)

(C)

Describe a fairly general model of money
multiplier incorporating ' adjustment on

account of 4%

(i) *Requlred reserve ratm changes;

(11) 'Excess Reserves held by the banks
and

(11i) Discretionary finance provnded by the
Central Bank.
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Suppose investors prefer one-year bonds to two-
year bonds and will purchase a two year bond
only if they cxpect to receive an additional 4
percent over the return from holding one year
bonds. Currently one year bonds yield S percent,
but investors expect the yield to fall to 4 percent

next year.

(a) What is the yield on a 2 year bond ?

(b) Is the yield curve upward sloping, flat or
downward sloping ? Give reason.

(c) Briefly explain which theory of term

structure describes such preferences of
investors.
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Briefly describe the various reform measures
undertaken to deepen and widen the Indian Money
Market,
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(a) What are the main ways in which an option
differs from a future contract ?

(b) Why are options and futures labelled
derivative securities ?

{c) Explain how this statenient can be true :
“A long call position offers potentially
unlimited gains, if the underlying asset’s
price rises; but a fixed, maximum loss if the
underlying asset’s price drops to zero.”
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(a) Define precisely the following terms, when
applied to Banking -
(i) Law of large numbers.
(i1} Fractional reserve systeni. 4
(b) Does thel presence of Deposit Insurance
Corporatién leads to both moral hazard and
adverse selection in the banking industry ?
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Write short notes on any two of the following : 9%

(a) The benefits of international portfolio
ivestment.

(b) Central Bank’s Balance Sheet.

(¢} Asset securitisation.
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